4 VCE & PDF https://lwww.geekcert.com/1z0-813.html
' 2021 Latest geekcert 120-813 PDF and VCE dumps Download
2 GeekCert.com

170-8139%As

Upgrade to Java SE 8 OCP ( Java SE 6 and all prior versions)

Pass Oracle 1Z0-813 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-813.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-813 Dumps | 1Z20-813 VCE Dumps | 1Z0-813 Study Guide 1/6


https://www.geekcert.com/1z0-813.html
https://www.geekcert.com/1z0-813.html
https://www.geekcert.com/1z0-813.html

' VCE & PDF https://lwww.geekcert.com/1z0-813.html

GeekCert.com

QUESTION 1

Given the code fragment:

fflins al y
Double d = str.ave;age{}.qetﬂsﬂouble{};
System.out.println({"2Average = " + d);

Which should be inserted into the line nl to print Average = 2.5?
A. Stream str = Stream.of(1, 2, 3, 4);

B. IntStream str = IntStream.of(1, 2, 3, 4);

C. DoubleStream str = Stream.of(1.0, 2.0, 3.0, 4.0);

D. IntStream str = Stream.of(1, 2, 3, 4)

Correct Answer: B

Use IntStream.

Reference: https://docs.oracle.com/javase/8/docs/api/java/util/stream/IntStream.html

QUESTION 2

Given the code fragments:

class H implements Runnable |
public void run() { System.out.prinBin(“Run.”):; )

|

class C implements Cailahle{ﬁ::ti_nb:* {

}

and
ExecutorService es = Executors.newSinglgThreadExecutor();
a8 . .exscuts{naew R()) 2 G A7 line nal
Future<String> fl = es.submit (new:£Y)): f/ line n2

System.out.println(fl.get () )
es.shutdown() :

What is the result?
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A. A compilation error occurs at line n2.

B. The program prints Run... and throws an exception.
C. Run... Call...

D. A compilation errors occurs at line nl.

Correct Answer: A

QUESTION 3

Given the code fragment:

final List<String> list = new CopyvOnWriteArrayList<>();

final AtomicInteger ai = new AtomicInteger (0);

final CyclicBarrier barrier = new CyclicBarrier (2, new Runnable () {
public void run{} { System.out.printlin (1liEg) ; }

¥

Bunnable r = new BRunnable() {
public wvoid run{) {
g T |

Thread.sleep (1000 * ailincrementAndGet ());
list.add ("X") ; i
barrier.await () ;

} catch {Exceptionex) 1

}

new Thread(r).start (b;
new Thread(r).starti{};
new Thread(r).start{);
new Threadir).start({);

What is the result?
A. X, X] [X, X, X, X]

B. [x] [x, X] [X, X, X]

C. X1 [x, X] [X, X, X] [X, X, X, X]
D. [x, X]

Correct Answer: A

QUESTION 4

Given: and the code fragment:
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class Person |
private String firstName;
private int salsary;

public Person{String fN, it sal)

this.firstName = fN.
this.salary = sal;

M
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{

ublic int get3FMrv () [ return salary; }

public String gé€tFirstName () {return firstNames; }

fam—

List<Person>» prog = Arrays.asList(
new Person("Smith", 1500)4
new Person{"John", 2000y
new Person{("Joe”™, 1000)p) ;

double dVal = prog.streami)

.filter(s -> s.gé&tFirstName ()
.mapTolInt (Persan::getSalary)
.average ()

.getAsDoubled) ;

System.out.print (dval) ;

What is the result?

A. A compilation error occurs.
B. 2000.0

C. 1500.0

D.0.0

Correct Answer: A

The line mapTolnt(Person::GetSalary) will cause a compile error.

-startsWith{"T™))

If it is replaced by the following line, a "." is added in the beginning of the line, the result would be 1500.0:

.mapTolnt(Person::getSalary)

QUESTION 5

Given the code fragment:
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public wvoid processFile() throws IOExcepgion, ClassNotFoundException |

try (FileReader fr = new FileReader|"logfilesrc.txt™):
FileWriter fw = new FileWpiter(“logfiledest.txt™)} |
Class ¢ = Class.forNamef fava.lang.JString™):

If exceptions occur when closing the FileWriter object and when retrieving the JString class object, which exception
object is propagated up to the caller of the processFile method?

A. java.lang.Exception

B. java.io.|IOException

C. java.lang.ClassNotFoundException

D. java.lang.NoSuchClassException

Correct Answer: C

ClassNotFoundException is thrown when an application tries to load in a class through its string name using:

*

The forName method in class Class.

*

The findSystemClass method in class ClassLoader .

*

The loadClass method in class ClassLoader.
but no definition for the class with the specified nhame could be found.

References: https://docs.oracle.com/javase/7/docs/api/java/lang/ClassNotFoundException.html
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